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Topic:- General Knowledge and Logical Knowledge

1) Where is the headquarters of the National Safety Council, India (NSC) located? / ?Tg']'q &t uRve,
YR (TTTHIHY) o1 Y7o Hei UG 32

1. Gandhinagar / TR

2. Allahabad / SITgIElq
3. Madurai / II@%
4. Mumbai / §5%

Correct Answer :-

e Mumbai/ @g

2) When is National Hindi Divas celebrated? / TI'.?;Tq %?.Pf ﬁﬂ'\q hd HATIT ST %?
1. 4 September / 4 R

2. 24t September / 24 IRIGLSES

3. 14t September / 14 RaweR

4. 16™ September / 16 RIdR

Correct Answer :-

. 14t September / 14 [RIGLSRY

3) Which regional party extended support to the BJP to help elect Manohar Parrikar as the Chief

Minister of Goa in the 2017 State elections? / 2017 & faUTIIHT ﬂqﬁﬁ' ﬁ'FF'ﬁET U&= 3 Mar &
TR & U g9 oM & e fra et urd 3 yrerar &) wgad= far ar?

1. Goa Democratic Front / TMar SHIbicd The

2. Goa SurakshaManch / TdT RE&TT H

3. United Goans Democratic Party / i;l;-il%és = SHshica et

4. Maharashtra Gomantak Party / HEIRTY THd® el

Correct Answer :-

@)



 Maharashtra Gomantak Party / HEIRTY e aref

4) Which of the following rivers does NOT originate in the Indian territory? A fe T &1

IH YT HIRATT Y-HTT A T 82
1. Chenab / TITdl

2. Ravi / 37d

3. Mahanadi / HEIG!

4. Brahamaputra / SFYA

Correct Answer :-

+ Brahamaputra / IFYA

5) Which of the following buildings in Madhya Pradesh has won the Aga Khan Award for Architecture?
/ vea weRn fRua fRgifea A | g vaa 3 aRgean (3nfdeamR) & T vew S Wi REPR Sitdr
??

1. Shaurya Smarak / I WIRS
2. Vallabh Bhawan / d¢tIH Hd-
3. Taj-ul-Masajid / dTSI-SA-ARSIG

4. Vidhan Bhavan / 38T Ha=

Correct Answer :-

« Vidhan Bhavan / fqU™ a9

6) Which country has the largest number of bank branches in the world? /Ty Sl Traran #
Haffie Ten fea 3 d §2

1. Canada / P -IS]
2. China / A9
3. India / HIRd

4. USA / Tad IoT SARDT (JTUY)

Correct Answer :-

» India/ HRd

7) Which is the longest beach in India? / HIRd H HaQ ST GYF dC D17 AT 82
1. Juhu Beach / 9g HH% dc

2. Dandi Beach /EI@WHE

3. Puri Beach /g\ﬁﬂﬂ?{ﬂf



4. Marina Beach / AR HHg dc

Correct Answer :-

« Marina Beach / A1 95 dc

8) Which Indian cricketer received the Padma Shri award in 20172 / 2017 ¥ {6 YR fppex &1
3T St R R e ur?

1. Ravindra Jadeja/?d'ﬁ STeull
2. M S Dhoni / TH T ¢/t
3. Virat Kohli / faRTe PIget

4. Hardik Pandya / ET% Ul

Correct Answer :-

« Virat Kohli / foRTe a’ﬁ%?ﬂ

9) , an industrial town near Indore, has the nick name the Detroit of India for its heavy

concentration of automotive industry./ R S cha? & U Th Gﬁ?ﬂﬁl—cﬁ LIRS %, Hiez dled ST
F U YP5 & PRU “HRd BT SIS & SYATH A ST o1 g

1. Dhamnod / ?J'Eh—ﬁ'
2. Pithampur / WER
3. Limbodi / feraiet

4. Ahirkhedi / TR S!
Correct Answer :-

 Pithampur / m

10) 'Wings of Fire'is the autobiography of —/ fadneg s wrge foaa sred YT %?
1. K.Natwar Singh / & e g
2. LK Advani / Td & STSaruft

3. Sachin Tendulkar / e ?IW
4. A.P.J Abdul Kalam / T U1 S 3fsgdl HelH

Correct Answer :-

« A.PJ Abdul Kalam /T UT S 37sgd Hemd

11) Baijnath Mishra (Baiju Bawra) was a musician. / SSTTY fors (ﬁqaﬁ'ﬂ) Tdh
i q



1. Tappa / cWI
2. Khyal / $HTcT
3. Dhrupad / YU

4. Ghazal / IISIdd

Correct Answer :-

 Dhrupad / U

12) In which state of India is the Kane Wildlife Sanctuary (KWS) located? / HIRd & fra e # &+

TG SRVY (Feguy) fRUT 72
1. Himachal Pradesh / fg@mad UeT

2. Goa /TdT

3. Arunachal Pradesh / 3/UTAA UG

4, Rajasthan / XTSTYTH

Correct Answer :-

e Arunachal Pradesh / UM tﬁ-‘a

13) The Supreme Court of India banned the usage of vehicles falling under which of the following

emission norm categories? / W%Wﬁéﬁﬁﬁmw Ao | & forass sraiia oM
aTe aTe+! & SUUNT IR Ufaay o faan 82

1. BSIV
2.BS1I
3.BSI

4. BSIII

Correct Answer :-
o BSIII

14) Who founded the 'Indian Home Rule Society' in London? / fram e x| ‘mﬁﬂw
AQaTsdl B RT3t A

1. Shyamji Krishna Verma / RUIES] oyl G}
2. Gopal Krishna Gokhale / LI Cau| M

3. Lala Lajpath Rai / Il <ISTUATTIR

4. Annie Besant / Q:ﬁ 4T

Correct Answer :-



» Shyamji Krishna Verma / TSI Cul GL|

15) Who is the author of the book, ‘Ghulam Giri'? [ TP ‘WW%W@W%’
1.BR Ambedkar/Eﬁ 3R HASHT

2. Mahasweta Devi / AT ¢at

3. Jyotiba Phule /@ﬂﬁﬁﬂgﬁ

4. Kanshi Ram /Wﬂw

Correct Answer :-

« Jyotiba Phule /@ﬂﬁlﬁ'[g’ﬁ

16) Villages from which of the following districts have been included in the Climate Smart Village Project? /

A A 9 fog o & wial &1 Farsie W faas Meiae d wnfie foear mar g2
1. Jhabua / ST
2. Panna /Ul

3. Shajapur / RITSTYY
4. Rajgarh / XSlTTg

Correct Answer :-

« Rajgarh /XIVlTlg

17) Four numbers from which of the following sets add up to 57? / fFrafafaa '\‘I'uiﬁth' AA DA A TR
HETSHT BT TR 57 82

1. {12,15,10,23}
2. {12,15,10,15}
3.42,5,10,15}

4. {15,14,9,19}

Correct Answer :-
o {15,14,9,19}

18) In a certain language, if Ram is called Mohan, Mohan is called Rahim, Rahim is called Ibrahim,
Ibrahim is called Anuj, and Anuj is called Jai Prakash, then who is Tbrahim? /| Th T HTYT H gfE Ram
B Mohan ol Sildl %, Mohan Y Rahim CZEIRIGH %, Rahim DY Ibrahim CIRSIGH %, Ibrahim B Anuj
PET ST © 3R Anuj B Jai Prakash T SIGT §, O Ibrahim B 82

1. Mohan

2. Ram



3. Rahim

4. Anuj

Correct Answer :-

19) Sis shorter than K but taller than R, M is the tallest. A is a little shorter than K and a little taller
than S. Who is the shortest? / S, K ¥ ATCT3 W RA G 8, M A @i 81 A, KF NSTARI g 3 s A
13T a1 8 | o A1eT S 82

1.R
2.K
3.8

4. A

Correct Answer :-
« R

20) In throwing of a dice, what is the probability of not getting 4? / T U & Bep § 4 7 31 DI
et UTaT 82

1

3
1.

5
5. 6

1
3. 6

i

6
4.

Correct Answer :-

21) Find the odd one out: / TH ﬁwmaﬂﬁm
1. Street / USPh

2. Lane / TTelt

3. Station / TR

4. Highway / I/t



Correct Answer :-

« Station / ¥-M

22) Find the odd one out: / T% fdUH JTd PIfTC:
1. 21

2.39

3.51

4. 83

Correct Answer :-

23) Complete the series choosing the missing number: / & J&AT AP gl B T PIfoTg:
5,16,49,104,

1. 115

2. 148

3. 181

4. 170

Correct Answer :-

24) Complete the series choosing the missing number: / Y& W TAGR YEAT B YRT BIToTT:
1, 3,511, 21,

1.42

2.41

3.43

4. 44

Correct Answer :-

e 43

25) Complete the series choosing the missing number: / TG I DR YT DI T BIFOIT:
34,18,10,6, 4,

1.2



2.1
3.0

4.3

Correct Answer :-

26) Select the option that is true about the Statements and Conclusions given:

Statements:
All girls are dancers
Some girls are not musicians

Conclusions:
I. Some dancers are not musicians
I1. All musicians are dancers

/ 39 faweu &1 Tu=1 PR Sifd f3r U Fy=T iR fewul & ar & 9et &:
PYH:

Tt gafaat Tdat §

e

I $ P! Giag 78 &

11 gt Tfiag Tdel §

1. both conclusions I and II follows / &G 1 3R 11 G SITERUN R §

2. only conclusion I follows / Had (HY I SFIIRU BT &

3. only conclusion 11 follows / &dd f-SHY IT SRV HRal §

4. neither conclusion I nor conclusion II follows / 1 B feer I 3R 7 g1 sl 11 ST CRG

Correct Answer :-

» only conclusion I follows / HId fHY I S{TTRVI HRAT &

27) Select the option that is true about the Statements and Conclusions given:

Statements:
All gums are cups
Some powders are gums

Conclusions:
I. All powders are cups
I1. Some cups are powder

/ 39 A &1 99+ Fifore sife fau e syl o eyt & IR & 981 8:

©)



PYH:
Mt HUE
PO URBSI T &

frepd:
I. 9 USSR FU®
II. $ U UISST &

1. both conclusions I and II follows / FBH 1 3R 11 S{FYRT] A

2. only conclusion I follows / Had ey | S{FHRT] Dl g

3. only conclusion II follows / DHad FpY 11 I DT ?

4. neither conclusion I nor conclusion II follows / g’f ﬁ"ﬁﬂh 3ﬁ? “ 61 ﬁw IT 38R0 Hd %

Correct Answer :-

« only conclusion II follows / FHad FAspY 11 ST Hdl %

28) Select the option that is true about the Statements and Conclusions given:

Statements:
No trunks are ivories
No toes are trunks

Conclusions:
I. All toes are ivories
I1. Some trunks are ivories

| 39 A &1 99+ Fiferg sife feu 1 Syl i et & I & 981 §:

DY

13 s grdiaid T8 ©

e

I i ust grefieia @

IL. O 48 g1diaid §

1. both conclusions I and II follows / FeFt 1 3R 11 G SR B %
2. only conclusion I follows / Fae FHY I SFIXRUI Hal §

3. only conclusion I1 follows / A [+T5BY IT SIXRUT BT §

4. neither conclusion I nor conclusion II follows / 7 & fI%T 1 3R 71 & fwept 11 SR RAE

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 81 R 1 3R 7 & fme 11 SIERU FRAG



29) Select the option that is true about the Statements and Conclusions given:

Statements:
Some aquas are octopus
All octopuses are dangerous

Conclusions:
I. Some aquas are dangerous
II1. All octopuses are aquas

/ 39 fawea &1 w1 Piforg ife f3y o wy=T o el & ar & 98t 8:
BHY:

TO V@1 S §

T iR o TaAs §

frrem:
I. $ U1 GaRATH &
11 9t aifeciuy BoT &

1. both conclusions I and II follows / T&PY 1 3R 11 E(Pl:h STTERUT A %

2. only conclusion I follows / Had fIeeps 1 ST HT %

3. only conclusion II follows / Had pY 11 S{FHRUT Dl g

4, neither conclusion I nor conclusion II follows / = _Gﬁ ﬁ'@ﬁ@h GﬁT - g)f ﬁ'@b_‘sf IS SR Hd %

Correct Answer :-

« only conclusion I follows / e (HY I SRV FHRl &

30) If CORNER is coded GSVRIV, then how is STREET coded? / 4f¢ CORNER %! GSVRIV ¥
Pifsd far SiTar 8, df STREET &1 $3 Sifsd fhar Sam?

1. VTUIIX
2. WUVIIX
3. WXVIIX

4. VXVIIX

Correct Answer :-
« WXVIIX
31) CANCELLED

A writer born in Satna who wrote for movies like Mr India is / FdHT ﬁ' ﬁa'r gY3Y ﬁ'{zﬁ? DT HATH E?IT\E?
forgiA ey fear ot fred forelt|
1. Khan Abdul / @I 3fegcl

2. Salim Khan / &9 @



3. Sharat Saxena / TRd G-

4. Javed Akhtar / SITdG 3R&IR

Correct Answer :-

e Sharat Saxena / TRd TR

32) CANCELLED

Madhya Pradesh's Fossil Park is locatedin_____ ./ HH USRI SaT=Y UTdh o fRa 81
1. Katni / el

2. Seoni / gt

3. Ratlam / Xd<iTH

4, Satna / Id-T

Correct Answer :-

e Katni/®el

33) ‘Servants of India Society’ was founded by / HRdd Ha® HIS $1 RITYAT 3P GRT BI
At <t

1. Ramakrishna Parahans / WW

2. Gopal Krishna Gokhale / Tﬁmm”ﬁ’@ﬁ
3. Bal Gangadhar Tilak / ST TTIeR fad®
4, Swami Vivekananda / Wﬂﬂﬁéﬁﬂ:ﬁ{

Correct Answer :-
o Gopal Krishna Gokhale / MuTel YR RC[Y]

34) The series given below contains a sequence of numbers. Identify the incorrect

combination: / T &1 T3 ga@r #, WS & TH HH IURIC 1 Teld Ao Ugi-g:
2,8, 16,64, 128, 510, 1024

1. 510

2. 1024

3.16

4. 128

Correct Answer :-

e 510



35) If DOLPHINis coded EPMQIJO, then how is MICROMETER coded? | Ufe DOLPHIN &}
EPMQIJO & Hif&d fbdr SITdr @, 9t MICROMETER & $& SifEd forar s

1. NJDSPNDUDS
2. NJDSONDUDS
3. NJDSPNFUFS

4. NKDSPNDUDS

Correct Answer :-

« NJDSPNFUFS

36) If CRICKET is coded BQHBJIDS, then how is BASKETBALL coded? | ¢ CRICKET &\
BQHBIDS W Hf&d fur SITdl 8, T BASKETBALL HY ] Hifsd forar SRvm?

1. AZRJIDUAZKK
2. AZTIDSAZKK
3. AZRJDSAZKK

4. AZRJFSAZKK

Correct Answer :-
o AZRIDSAZKK

37) If ‘ski rips tir means 'high church steeplé, 'tir lon hyt means 'simple church wedding,
the code for which word would be 'ti? / af¢ 'ski rips tir o1 3 'high church steeple, 'tir lon
hyt &1 314 'simple church wedding Bl & O {9 Teg & AT IS 'tir g2

1. simple
2. steeple
3. high

4. church

Correct Answer :-

o church

38) Complete the series choosing the missing letters: / &l &R/ AGRT B AP Yl | T PIfoTg

AEC, BFD, CGE, DHF,
1. EGI
2. EIG
3. FHG

4. RGH



Correct Answer :-
e EIG

39) How many numbers greater than 8000 can be formed with the digits 8, 0, 6, 2, and 5? / 3P 8,0,6,2, Gﬁ?

5% 1Y 8000 F Siferp ot Temait w1 fHior fsar s wwar g2
1.6
2.24
3.36

4. 12

Correct Answer :-

40) The smallest standard size of the Indian National Flag as per the Flag Code of India, 2002 is
. | MR $isT Hf3dr 2002 F SFHR YR AP $is F1 Had DIt A A1
gl

1. 300 mm X 150 mm / 300 .91, X 150 7.4,
2. 450 mm X 300 mm / 450 T HT. X 300 1A,
3,225 mm X 150 mm /225 L X 150 fA.H,

4. 150 mm X 100 mm / 150 T # X 100 A,

Correct Answer :-
e 150 mm X 100 mm / 150 .7 X 100 fo.4Y),

Topic:- Mental Ability and Mental Aptitude

1)

In the sequence shown below, which figure comes next? / d= &F T 8 &, 39T
JTeRTT it & 3REN?

.1‘ ", “
([ =gl ) AR
N\ [N

v
{




t"l’]
2.
{4
3.
]N'l
P Pl ..l
4.

Correct Answer :-

2)

In the sequence shown below, which figure comes next? / dr & T8 & &, 3ETe
JTRTT hieT T 3REN?

AN EA A A gy A a2




Correct Answer :-

[ N \”1

3)
If the following two squares shown below overlap, which one of the following options

is formed? / Ifg et & a9t AT B &, df foeet & I &id AT U dehed IoaT §7

) - .
® iy ) T

or

L <

W

VA
[C]

7 *

4.

Correct Answer :-

(16)



The length and breadth of a photo frame is 8 cm = 6 cm. |f both the dimensions are
increased in the same proportion, what will be the difference in the length and breadth
of the frame, when the perimeter of the frame becomes 112 cm? / T ®Iel e T
dars AR diss 8 F x 6 T §1 afg AT 3w TEEE #F gfg g § ot e T sleg
3k =ists & T 3R g, etk S T 9RET 112 I g ST 87

1.5 cm/5 9!
2.7 cm/ 7 94
3. 6cm/ 6 IHI
4.8 cm/8 TN

Correct Answer :-

« 8cm/8TH!

5) Three businessmen hire a showroom for Rs. 25,200. If the first businessmen puts 20 electronic items
for 8 days; the second businessmen puts 25 electronic items for 8 days; and the third businessmen puts 16
electronic items for 9 days; then what is the rent paid by each of them? / S TR A WeRH He B
25,200 370 e fvrd = foram | afe wuw samardl 20 figaa aegaii @ s 2 & fog war §; fidf
IR 25 fagaa awgsil & 8 =1 ¥ e waan 8; iR goia s 16 fagaa awgai &Y o o=l &
forg e 7; °t 97 A U & R foan fberan far simar 82

1. Rs. 8,000, Rs. 10,000, Rs. 7,200
2. Rs. 8,400, Rs. 8,400, Rs. 8,400
3. Rs. 8,200, Rs. 9,000, Rs. 8,000

4. Rs. 9,000, Rs. 9,000, Rs. 7,200

Correct Answer :-

« Rs. 8,000, Rs. 10,000, Rs. 7,200

6) Tap-A fills a tank in 5 hrs, Tap-B fills the same tank in 15 hrs, and Tap-C empties the same tank in 10
hrs. With all the three taps open together, the tank will fill in: / T¢T A frdt EPt Bl s ES W MRl %, a4
B I BT P 15 U H WRAT 7, 3R 7 ¢ IH HT Y 10 G2 & WIeh < ¢aT 31 A1 9 T |1y
el BI1 UR 1 3 IHT § UR SITE:

(17)



1. 6hrs/6‘a._C>f
2. 5hrs /5 °Tl
3. Never ﬁll/$lﬁ:1€f'-'-|§7ﬁ

4.10 hrs / 10 9ci

Correct Answer :-

. 6hrs/6U'?.‘3f

7) The product of ages of P and Q is 35 years. The difference between the ages of P and Q is 2 year.
Considering, P being the older among them, find the age of P. / P 3R Q G| SITY T UIHHE 35 CL %I P
AR QPP H 2 af FT R FI WA A, B ITH A pIST 3, A P DI 3G F1d DY

1.4
2.6
3.7

4.9

Correct Answer :-

8) The price of rice falls by 20%. By what percentage a percent can increase the consumption of rice so

that his overall budget does not change? /W%u@ﬁw% aﬁaﬁﬁws’m—é%l ﬁﬁﬁm'\ﬁ
ITqd Dt GUd | g Ias] 8l Abdl g o % g aoie ufeafda T 82

1. 35%
2.25%
3.20%

4. 30%

Correct Answer :-

9) The population of a town increases by 5 % every five years. Due to a high rate of industrialisation of
the area, the population witnesses a further 5 % increase due to migration from neighbouring places.
Which of the following can be the population of this place, if it is known that the present population of
the place is between 44000 and 450007 / T TR ®1 SHSI YOS Ui a9 H 5% dP dgdi gl AP
NP IHR BT I X & RO, TSI RIFT A RATARUT B GoIg A THHS F 3R 5% T Pt
g 3= 751 T a5 719 81 fF R B TEHH SEH®AT 44000 3R 45000 % §H 7, @ Fafefaa o
T T 59 T B I TGS 81 hal 82

1. 44,025

2. 44,200



3. 44,100

4. 44,050

Correct Answer :-

10) Out of three numbers, the first number is twice the second and 4 times the third. If the average of
the numbers is 56. Find the difference between the largest and the smallest number. / &= Heen o ﬁ,
T = 3T & STt § SR et e @ 4 T[T 7 1 afe el &1 i 56 8, @ idad o
AYTH BT & o BT 3R J1d B

1.75

2.70

3.72

4.71

Correct Answer :-

11) When the price of a radio was reduced by 20 %, its sale increased by 80 %. What was the net effect

on the sale? / 9TS U ST BT T 20% HH 8l AT df 3P 4pa & 80% &1 gfg g3 | Apa W pa
TUTT T 412

1. An increase of 44 % / 44% ﬁf{@f
2. An increase of 75 % / 75% aﬁq@
3. An increase of 66 % / 66% ﬁq@

4, A decrease of 44 % / 44% B HH

Correct Answer :-
 An increase of 44 % / 44% ﬁ@@

12) A man can row at a speed of 10 kmph in still water. If the speed of the stream is 2 kmph and he
travels upstream and downstream in 30 mins, then what distance does he travel in all? / T Y& 10

i wftee 3t o @ fRR 5@ 8 19 ga 381 31 afe yR1 3t are 2 et ufa ver g sk at amT &
faudia 3k 4RT & |1 30 frFTe g Svan @ °t o) oo fhasit gl T Hare?

1. 6.4 km/ 6.4 fbA
2. 5km/ 5 fBHt
3. 4 km / 4 TH

4. 4.8 km/ 4.8 e

Correct Answer :-



« 48km/ 4.8 fbAt

13) The ratio of the age of Aunt Agatha and Uncle Roger is 5 : 6, the same as the ratio of the ages of
their children Suzanne and Bernard. If the sum of the ages of Suzanne and Aunt Agatha five years back
was 60, what will be the sum of the ages of Bernard and Uncle Roger five years hence? / AT SATYT 3R
3BT IR B 3T T IUTA 5 : 6 T, TaT U 3P Tl Foid SR TS Pt 3T HT 3T g |
gfe goi 3R it STy Pt Mg HT AP Ui ad Gd 60 T, o) T a9 g1 a-is 3% 3iba
IR BT R BT ANTHS T TR

1.74
2. 84
3.94

4.79

Correct Answer :-

14) In travelling form City A to B, a person drove 2 hours at 70 kmph; next 2 hours at 50 kmph and last
5 hours at 45 kmph. What is his average speed for the whole trip. / RIgX A Y B I ITAT B3 'Ef, Udh
T 2 g€t a® 70 fot ufar deT uR; SRt 2 He, 50 foreit ufer deT uR; 3R onfR & 5 4e, 45 faneit
Ui HeT W S TATH TAT1 TYUF G & fore S e e R 82

1. 51.66 kmph
2. 55.66 kmph
3. 51 kmph

4. 55 kmph

Correct Answer :-

e 51.66 kmph

15) 1f (x =3) is a factor of both x> + 2x% + px + 6 and x® — 5x + q, then find 6p+5q. / AfE (x = 3), x> + 2x% +
px+63'ﬁ?x2—5x+qaﬁmﬁuﬂﬁ'@%jﬁ6p+5qmﬁl

1.-62

Correct Answer :-

e -72



16) A number consists of two digits whose sum is 8. If 18 is subtracted from the number, then the digits
are reversed. Find the number. /w‘a@nﬁﬁ W%WWS %I ?T%E'Hﬂ'@ﬂﬁ 18 Wﬁ'{ﬂ
Y ot 3i Ufaiierd 81 9ITd & | 6 Jrd $e |

1. 80

2.53

3.62

4.71

Correct Answer :-
e 53

17) A sum of Rs. 2880 is divided into two parts in a ratio of 7 : 11. The larger part will be: / 2880 IUY

P AR P 7: 11 F 3rgura A S UrN & fyvrra foran a1 Sdar T g
1. Rs. 1920/ 1920 ¥
2. Rs. 1760 / 1760 U
3. Rs. 1120/ 1120 TG

4. Rs. 960 / 960 ST

Correct Answer :-

e Rs. 1760/ 1760 3T

18) A store keeper sells a part of a hundred kilogram sugar bag at 10% profit and the remaining at 20%
profit. He profits a total of 18% on the entire bag. How many kilograms does he sell at 20% profit? / Th

FPER Il fHauTa Aaw? & AA & TH URT B 10% & aTH TR SR AT HFT B 20% & aTY U
gwélﬁqﬁﬁﬁwaﬁw 18% T ATYH BT 82 20% & ATH WR 4 fa=t fatmy &1 fasra wvar

1. 85 kg /85 fobdm
2.75 kg / 75 Tob¥T
3. 80 kg /80 favum

4.20 kg / 20 fpom

Correct Answer :-
. 80kg/ 80 fobum

19) If seven workers finish two-thirds of a job in four days, then how many more workers have to be

hired to finish the remaining job in one day? / gfe ara 4ffe Wﬁ%ﬁ-ﬁ?ﬁﬂﬁﬂﬂﬁ‘ﬁﬁm
¥ <t e ST BT R Tora b ST R s e R 3 8 2 e ot & s

1.7

2.10



3.5

4.3

Correct Answer :-

20) 60 % of the Scholars in a college are Girls. The annual pocket money of each girl Scholar is Rs.
25,000 and Boy Scholar is Rs. 35,000. What is the average annual pocket money of all the scholars in the

college together? / TH ot A 60% MY ﬁmﬂ’fa%ﬁ'm%l Ta® MY ﬁmzﬁa:ﬁﬂaﬂaﬁmﬁa
@ 25,000 U & 3R MY faemdf s o1 35,000 0 | Hiaw & T My faenfiat o1 ee Ty
3Nd aiffe o9 Tl franr 82

1. 29500
2. 31000
3. 29000

4. 30000

Correct Answer :-
e 29000

21) The selling price of 4 articles is the same as the cost price of 5 articles. Find the loss or profit

percentage. / 4 G¥g3N BT fAhd G, 5 IXgSNl & H9 oI & G ¢ | g1 T 1Y Uia=ra 1 B |
1.30%
2.25%
3.10%

4. 40 %

Correct Answer :-

22) Renu, Minu and Sonu are three cousins. Renu and Minu are of the same age and sum of the ages of
three cousins' is five times the age of Sonu. Three years ago Renu's age was thrice the age of Sonu. What

will be Sonu's age after four years? /iﬁ, 'Fﬂ:j'\i’rﬁ?' ?’hﬁ?ﬂqﬁ 'méasq%l iﬁeﬁ?tﬁiwenga%
T SR STT! 3T BT ARTEHS T+ DI AT BT UTE AT 8 | 15 99 gd 37 B 31 AL BT g & <o
T A | TR oY uyTa | @t 3y fEast g

1. 12 years / 12 99
2. 7years/7<_1|'§
3. 8years/ 8§ Gl

4. 10 years/ 10 Gl



Correct Answer :-

» 10years/ 10 Gl

23) 6 men and 8 women can do a piece of work in 10 days while 13 men and 24 women can do the same
in 4 days. The time taken by 10 men and 12 women in doing the same type of work will be: / 6 Y& 3R

8 AfFETY T BT Bl 10 faA1 A H TP & ST 13 T 3R 24 AT It 1 4 AT & w2 aoha
21 3N PR & B B B | 10 TuT 3R 12 Aieensi gr1 form war gwa g

3 3
6 —days / 6 T
4 ¥ 4

days / 6 %ﬁ‘?r

bl s

1 1
3 6 Edaysffi Eﬁﬁ

4, None of the above / dq{\Id&‘I =k Chxl‘é.q_&p[

Correct Answer :-

1 1
6 — days / 6 —Tga
4 4

24) Find the average of the first 91 natural numbers. / UUH 91 '!TITP(I'CF T3 BT AT FIa B}
1.455

2.46

3.45

4. 91

Correct Answer :-

25) Ganesh is younger than Rahul by 6 years. If their ages are in the respective ratio of 3 : 5, how old is
Ganesh? / TTOIRTITEA A 6 99 SieT 31 afe ST! 31 3 : 5% Hafdd Srurd # € ol T BT g 1
8

1. 6years/6aﬁ
2. 15 years/ 15 Gl
3. 12 years / 12 T4

4. 9years/9a‘3f



Correct Answer :-

. 9years/95|'5f

26) Two men are walking to a certain distance. One at 4 kmph and another 5 kmph. The latter arrives
half an hour before the former. Find the distance. / & =Y Uh Ffa ?\& GEZC R %'I Ud 4 fpH
gfa et 3R gaRT 5 fonelt ufar deT ot arer & 9 397 & 1 GO, Ugd O SMTYT el Sied! ugd oral 8 | gt
BIGKCRd!

1. 10 km / 10 fopeit

2. 12 km / 12 fopsit

3. 6 km / 6 Tl

4.75km/ 7.5 fpet

Correct Answer :-

e 10km/ 10 fopdt

27) 40 men working 8 hours per day can complete a piece of work in 21 days. How many hours per day
must 120 men work to complete the same piece of work in 7 days? / 40 Y9 PUED faas e P B
R TP H1d 31 21 A1 A gl w2 9wvd 81 S wrd &1 7 fat o guf #1 & T 120 70l &) wd®
T foram W orf e g

1. 9 hrs /9 ©cC
2.10 hrs/ 10 G¢
3. 12 hrs/ 12 G¢

4.8hrs/8‘tj%

Correct Answer :-
e 8hrs/8 'ﬂ%

28) Which one of the following four addresses is NOT EXACTLY same as the one given

below? / 7% 38 T IR wal & ¥ ¥ i M o & St HH S 91 TP 781 82

Haussler Bettina
Schafers Garten 14,

Frankfurt Am Main, 60431

(i) Haussler Bettina
Schafers Garten 14,

Frankfurt Am Main, 60431



(ii) Haussler Bettina
Schafers Garten 14,

Frankfurt Am Main, 60431

(iii) Haussler Bettina
Schafers Garten 14,

Frankfort Am Main, 60431

(iv) Haussler Bettina
Schafers Garten 14,
Frankfurt Am Main, 60431

1. iii

29) Find the average. / 3ae e
11,23,37,49,55 & 71

1.39

2.41

3.40

4,35

Correct Answer :-

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / 19 &Y TS @ ¥, S1&RY 3R T=ma &1 v % fAfga &1 Terd Tae ugare:
i. bgdg2101dgbg
ii. bgdg2101dgbg

iii. bgdg2111dghg



iv. bgdg2101dgbg
1. iii

2. iv

3.ii

4.1

Correct Answer :-

Topic:- Science and Simple Arithmetic

1)
In the given figure, 2ZCDB = 50°, £ZDBA = 50°, AD =4 cm and BC =4 cm,_ then ABCD is a‘an
/ &w v @7 #, £CDB =50, ,DBA = 50°, AD = 4 &2 3{R BC =4 &, A

ABCD A& T &

A B
1. parallelogram / THIGR TGS
2. rhombus / ﬂﬂﬂﬂﬂﬁ

3. rectangle / 3TId

4. isosceles trapezium / GHIgaTg JHAH

Correct Answer :-

- isosceles trapezium / GAGETg THAHE



In the given figure, PQ || RS. 2AEF = 93¢, /BHS = 110°, then £ABC = ./ U 70 == &,
PQ | RS. ,AEF =95°, /BHS = 110°. T ABC =

PA .l
- A_ | .
gl
g
=B
— ""Fl e
) |
Q S
1. 359
2. 100
3. 259
4, 159

Correct Answer :-

« 250

If 298116 = 346, then v29.8116 = f OfE 298116=7546, dTv/29.8116=

1.5.46

2. 0.0546
3.54.6

4. 0.546

Correct Answer :-

« 546

The cube root of -64 % -13311s: f -64 x -1331 &l ol Hel IGES GI4IT:

1.44
2. 88
3.-22

4, -44



Correct Answer :-

. 44
5)
‘ gN+z_ gn+1 gh+z_ gn+1
Thevalueof ——— = S —————— W HEA =
4x3gnt—gt —— 4 x3n_gn —

1.3

2.0

3.2

4.1

Correct Answer :-

Ifthe length of a chord AB is equal to the radius OA of a circle, then # AOB = . gfe
T ged T ST AB 3T AT OA & SRR §, df 2ZAOB=

1. 759
2. 300
3. 900

4. 600

Correct Answer :-

e 600

Walking at éﬂl of his usual rate. if a man is l%hours late, then his usual time is: / Uer cOigd
mﬁwﬁﬁéémﬁﬁwﬁg&, g¢ 1- fadfaa gramar &, &

ORI OHeT T8 0 B

5 X hours / 5% TeE

1.2
2. 4 hours / 4 ©¢

3. 6 hours / 6 Tc

4.5 hours / 5°¢



Correct Answer :-

« 6hours/6dc

8) Renu is x years old. Her sister Beena is 5 years older to her. If their ages add up to 35, then
Beena’s age is: / I P! 3T x 9 g1 TP Tg N1 3TA 5 a9 73t 81 afe 37 S Ft 31y &1 s 35
?, al 91 Y ey A= Bl

1. Divisible by 9/ 9 ¥ faureg
2. Multiple of 5 / 5 &1 7[UTih
3. Multiple of 3 / 3 &1 Ul
4. Multiple of 7 / 7 &1 T[0T

Correct Answer :-

« Multiple of 5 / 5 T T[Ulicp

9) A person sells a radio of price Rs. 1000 at 20% discount to another person. The second
person increases its price by Rs. 400 and sells it at a discount of 25%. What is the profit

percentage made by the second person? /Wﬁﬁ@ﬁﬁwm 20% ﬁ@?tﬂ
1000 TTY BT 94T| GAX ATHT A SHDBT G 400 TUY TGTDHR 3 25% DI P UR 94T gAY
fqa gRT fosa= wferzra ary sifofa faear wam?

1. 12.5%
2.5%
3. 12%

4. 10%

Correct Answer :-

o 12.5%

10) Five equal cubes, each of side Scm are placed adjacent to each other. The volume of the new

solid formed will be: / I T °1, RTa! e St YoT 5 A} 8, Top-gue & =1 ¥ 8 1 =Y fAififa
31 BT a1 gI:

1. 625 cm?
2. 125 cm?®
3. 15525 cm®
4.225 cm>

Correct Answer :-



11) Two dice are thrown simultaneously. What is the probability of getting the sum as 14? / a’

U9 U 1Y B MU ST & a=] BT AR 14 3 B P GHEGA1 82

3.0

4.1

Correct Answer :-

12) The cost of a new television set is Rs. 22000. Its value depreciates every year at the rate of
20%. What will the depreciated price be after two years? / T THIfaw Te BT YT 22000 UL g1
TUDT Ufaay 20% aYed a1 8 | & a9 ai¢ SHT ayfedd Yo o1 ghm?

1. Rs. 14080 / 14080 Ul
2. Rs. 18800/ 18800 3T
3. Rs. 16000/ 16000 U

4. Rs. 14800/ 14800 3T

Correct Answer :-

« Rs. 14080 / 14080 30

13) The area of a rectangle is 400 m?. If the sides are doubled what will be its new area? / %

ST BT B 400 W2 B 1 TS 3PS YT SR R S A1, & =747 &A%t o1 gRI?
1. 800 m?
2. 3200 m?
3. 2400 m?
4. 1600 m?

Correct Answer :-

« 1600 m?



14) On a hot summer afternoon, the tent made up of white fabric will be preferred as white colour is: /

THI $1 GIUER & Wi $US I T a7 DI Wufear & seet, wife e T 8:

1. A good absorber and bad reflector of heat / HBHI I U H=3T STYNTEH YT TR R D

2. A bad absorber and good reflector of heat / HTHI DT Ydh WRIF STINYD TYUT 3BT URTdcih

3. Neither an absorber nor good reflector of heat / $HHI BT Y 3BT AT B ?‘Rﬂqéof 33T GRIAdp

4. A conductor of heat / 3B BT YdIgh

Correct Answer :-
» A bad absorber and good reflector of heat / G BHI &b Ych W[ STYNYEH qUT DT tITI‘GIT‘W

15) When wax is heated, it undergoes some changes. Pick out the correct statement. / STd o &1 T

o SITaT € Y 5OH B uRad o €1 TE YT B g |

1. Solid wax gets converted into liquid which is a chemical change. / 3 AH &g o giafdd 63[ NG %, SIRED
T IS TRad g

2. Water vapour is produced which is a physical change. / SI¢] d[™] IdTed gt %, S 3 Hifae ufvad= %I

3. Carbon dioxide is formed which is a physical change. / HIa CIEEIERIES 1 fafor E-HT%, S o Hifoe
aRad B

4. Soot is formed which is a chemical change. / d'ic] I o grar %, S o It uiadd %I

Correct Answer :-

» Soot is formed which is a chemical change. /amamﬁﬂfms”m%, S o5 It ufvadH %I

16) When a ray of light is incident on a reflecting surface and if the reflected ray is at an angle of 90° to
the incident ray, the angle of incidence of the ray is: / STd YPIRI P fpvor uRTad areit g U 3mufaed
Bl &, Td afg wrafa faor smufae fB=or & 900 TR §¥aT 7, A o1 F1 Siua= ST g g

1. 30°
2. 60°
3.45°

4. 90°

Correct Answer :-

. 45°

17) Which of the following is a bad conductor of electricity? / fA=T # | =T faTell &1 HaTars 32
1. Tap water / ¢l T U

2. Distilled water / 3{I{d Sfcl

3. Salt water / AGUNY ST



4. Alcohol / Uehlgd

Correct Answer :-

« Distilled water / Td SId

18) Which one of the following is not a GM (transgenic) crop? Rk EEank:l Tdh GM @'I'\‘lﬁﬁm
B o1 82

1. BT cotton / It U

2. Tomato — flavrsavr / CHICX - TR EdR
3. Basmati rice / STHHT a9

4, Golden rice / e Irad

Correct Answer :-
« Basmati rice / STIHG! T19d

19) A drum is beaten in vacuum and we are unable to hear it. This is because: /s'nﬁ frafa @ dier

TIT 3R B9 I G 1 U1 R ¥ 1 U swfere i

1. Infrasonic sounds are produced / 3UH ﬁﬁﬁm@?ﬁ%l

2. Frequency of vibration of sound is low / g BT HUT DI H@%ﬁ'ﬁ@?ﬂ%l
3. Amplitude of vibration of sound.is high / €3+ & HUT Bl Wﬁﬁ?ﬂ%l
4. Sound cannot travel in vacuum / @+ fald & a1 T8 % Wbl g

Correct Answer :-

¢ Sound cannot travel in vacuum / ?ﬂﬁﬁﬁhﬁw‘_‘lﬁmwgl

20) Calcium has 20 electrons and 20 neutrons and Argon has 18 protons and 22 neutrons. What is

similar between them? / TeRTIH T 20 SATCI AYUT 20 <YL & YT AT A 18 Wl auT 22 A |
I &t § T FHAT 52

1. Mass number / SoGHTH hHIP

2. Number of valence electrons / ﬂth\_rﬂ ‘éadt:ll \I CARIREs|
3. Atomic number / UHIYJ HHD
4. Atomic mass / UXHIU] gHHTT

Correct Answer :-

« Mass number / ST hHID

21) Remote sensing means: / Gg¥ '\‘laET'T (ﬂTﬁE @rﬁrrr) &1 foT aref ﬁ?ﬂ %:

(32)



1. Using a TV remote / a1 e &1 SUAT ATl

2. Collecting information from a distance / gX 9 LT U A DAl

3. Gathering information from the surrounding / STH-UTH Bl AT Uh A PRI

4. Going to remote places / GX&[ R DI ST

Correct Answer :-

» Collecting information from a distance / @\T@ SEEL Qdoad DI

22) Identify the prokaryotic cell from the following. / FHraferf@a '\‘:ﬁ-ﬂ' # A Mol Sl
LRI

1. Cell of blue green alga et g 9T B BB
2. Cell of bread mould HIRIHT IS B! tb_w D/

3. Human cheek cell /AT HUTd DI

4. Onion cell /&S] WIRIBT

Correct Answer :-

e Cell of blue green alga BINIER QAT Pt HIRApT

23) To which of the following organelle does ribosome attach to? /= 9 A g sIiRe d

AFERA ST Eiell B2

1. Mitochondria / H@WE{CIT

2. Golgi / el

3. Endoplasmic reticulum / &I?Iﬁaﬁ SINEA

4. Nucleus / 1%

Correct Answer :-

» Endoplasmic reticulum / Sfcsedt STTferT

24) Bone and cartilage are: / SR T IUTRY A= Epl_rﬁ %
1. Skeletal connective tissue / BT YA Sl

2. Muscular tisssue / URNT Sdd

3. Fluid connective tissue / dRd TGl SHdd

4. Connective proper tissue / Ifrd HaS Sde

Correct Answer :-

« Skeletal connective tissue / DI wﬁﬁ SHddh



25) During respiration, the gaseous exchange takes place in: / a3 & aﬂﬂ'ﬁ'\‘:ﬁ BT STqIH-

e E) e d g e:
1. Lungs and alveoli /WHWW’@W

2. Trachea and larynx / QTG TUT HThd

3. Alveoli and throat / ARIHIRHT AT HS

4. Throat and Iungs/WaﬂTm

Correct Answer :-

» Lungs and alveoli /ﬁmo—c';fa%na'rgﬁ@m

26) The group of similar cells that work together to perform special function is called WELIG]
FiRBTS & g e o R s €, P Bl
1. organ/ 3T

2. organ system / 3T YoITet

3. tissue / Hdd

4. none of the above / duﬁidd A P !

Correct Answer :-

e tissue / Hddh

27) What are the food requirements of dairy animals? / é'\Pfq"{[Gﬁ CA RG] STAGD Y HIT %'?

1. Nutritious feed with additives / TSl o CILCRCID
2. Fresh green grass IGISIRIRCIES

3. Mixed feed containing dry grass, grams and other roughages /ﬁ@ﬁ‘aﬂ, T 3R mlﬂaamgaaﬁf%
RCIC]

4, The feed should include roughages and concentrates in balanced amounts / 9I<] o AT IR le-—|| dI%Q QH

s Aferd AT H Bl

Correct Answer :-

e The feed should include roughages and concentrates in balanced amounts / dI<] H AT IR ES\HI dll%Q Tq
RIEGIRGINCEIEIRERE]

28) Find the value of 'a’, if x4 — 2x3 + 2x2 + x + a is exactly divisible by x2 + x + 1. / Tf¢ x4 —
2x3 + 2x2 + x + aPIFTA X2 + x + 1 F gRT HIST g, @l “a’ BT U FId BRI

1.-1
2.4

3.1



4. -4

Correct Answer :-

29) (a=b)2+(a+b)2-(a+b)(a-b)=
b ) = =1 g

/| (a=b)2+(a+b)2-(a+b)(a-

1. 3a% + b2

2. a% + b2

3. a2 + 3b?

4,222 + 2b?
Correct Answer :-
. a2+ 3b2

30) Which one of the following conditions is NOT essential for germination of seeds? / diel &

3ipvur & fore g # § w9 W e uRfRufa smazgs =8 82
1. Fertilizer / IRD
2. Sunlight / YU

3. Air/dl{g
4. Moisture / TTHI

Correct Answer :-

» Fertilizer / JaRb



